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3.1  

 

Kosinussatz in einem beliebigen Dreieck QPR: 
 

QR² = QP² + PR² - 2 * QP * PR * cos φ 

 
QR² = 3² + 8² - 2 * 3 * 8 * cos φ   cm² 

 
QR² = 73 - 48 * cos φ |ⱱ 

 

QR(φ) = �73 - 48 *cosφ  cm 

 
3.2 

 
O = M1 + M2  cm² 

 
O = π * QS * QP + π * QS * QR cm² 

 
Im Dreieck QSP gilt: 

 
             QS  

sin φ = ----- | * QP 
             QP   



 
QP * sin φ = QS 

 
QS = sin φ * 3 cm 

 

O = π * sin φ * 3 * 3 cm² + π * sin φ * 3 * �73 - 48 *cosφ   cm² 

 

O(φ) = π * sin φ * 3 * (3 + �73 - 48 *cosφ ) cm² 

 
3.3 

 
30% entspricht dem Prozentfaktor 0,3. 

 

0,3 * O = 0,3 * π * sin φ * 3 * (3 + �73 - 48 *cosφ  ) 

 

0,3 * O = 0,9 * π * sin φ *(�73 - 48 *cosφ  ) 

 

M1 = π * sin φ * 3 * 3 cm² = 9 * π * sin φ   

 

9 * π * sin φ = 0,9 * π * sin φ * (3 + �73 - 48 *cosφ) |:π * sin φ 

 

9 = 0,9 * (3 + �73 - 48 *cosφ) | :0,9 

 

10 = 3 + �73 - 48 *cosφ | -3 

 

7 = �73 - 48 *cosφ |² 

 
49 = 73 - 48 * cos φ | -73 

 

- 24 = - 48 * cos φ | :(-48) 
 

0,5 = cos φ --> φ = 60° 

 


